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OPTION-A
Paper : COMfHG—20’16

( Macroeconomtics)

1. Answer the followmg questlons as directed :

1x10=10
T 2RI ﬁt‘f‘ﬂ?{ﬂ@ Bew fm :
(a) What is frictional unemployment ? |
| e ReeRie ket |
(b) Define excnange. rate.
() What does a vertical IS curve mean ?
TERIs R @R
@ What do you mean’ by 11qu1d1ty
Preference ? |
wﬁ%qﬁmﬁs{w
(¢) What is meant by circular flow of
* - income ?
T BRI 2R WA {2
(f) State the condition of equilibrium in
the money market. o
| IGT SFAOR 56 Trard A1
BO3FC 0046 2

(g) What is opén econnmy..
e uiide I e

(h) Define effective demand.
AF sﬁm ol Bt |

) ‘What is the most common method of
measuring inflation ?

SRR (I SBIRS el A et e

() The slope of the LM -curve depends
upon, the income elasticity. and the
interest elasticity of the demand for
money. (Write whether the statement is -
true or false) o

LM (a1 oo CRIaich! st Sitws < f3fe-
AT A S 2 PO SATS

[Ceaial (ST BT T AR z%%lr)
2. Answer the following questions : 2><5=10
Sy TR Bes frmls |
(@)  What are the components of national
income ? '
SO iEe T & e

-(b) Distinguish between induced investment
. and autonomous investment.

mmﬂww@ﬁmﬂﬂwm@
e
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() What is natural rate of unemployment ?

(d) Why does the aggregate demand curve |

slopée downward ?

Wwﬁm@wﬁwﬁﬁﬁw

(e) Distinguish between fixed exchange rate
and flexible exchange rate.

%ﬁﬁwmwwﬁzﬁﬁwmw
ﬂmﬁsﬁﬁﬂn .

o3 Answer any JSour of the followmg questlons

5><4 =20

(@) Briefly discuss the demand-pull theory.

. of inflation.

~ (b) Write a brief note on different types of

Investment.

ﬁ@wﬁmmﬁmmme|

' (c) State the factors that determine the
slope and position of the IS curve.

IscemaciﬁﬂEW¢EFﬁmﬂﬁFﬁ?ﬁﬂﬁhﬂmaaqg'

ﬁ$ﬁ$ﬁ#m|
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- @)

C (e

Discuss briefly the circular flow of
income in_ a two-sector economy.

@wwwﬁ%wﬁmm"

T T -

Explain the relatlonshlp between
. speculative demand for money and rate _

of mterest

WWWWWI

Explain the trade-off between 1nﬂat10n
and unemployment

Sl

- Answer any four of the followmg questions :

10x4=40

were At Rrerat oo ema w A
(a) Discuss the features of IS and LM

curves. Explain the-determination of
equilibrium rate of interest and level of

‘income w1th the help of IS-LM curve.
4+6=10

IS % LM @WWWIISWLM
.a¢ma'ﬂ§mr'Eﬁ¢mﬂxzﬂﬁizwsvmasvmﬂa'@a
c¢awmaﬁtmﬁraﬁfiﬂﬁ%ml | '
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®

(©

(@)

(e)

- Or/9¥qt

How is LM curve affected by the change
in the supply of money and the demand
for money. Explain Wlth a dlagram

10

@R @I I @ srf%ma ARSaT w -
.@Wﬁmmﬁ—maﬁmww
A .

What is meant by investment function ?

- Discuss the. factors which affect the

level of investment. 2+8=10

Rt wom e & Iome R wge
ST (AT SAMITRR SCETdal |

- or/adl

Explain Mundell-Fleming model with
flexible exchange rate. . - 10

?ﬂﬁﬁmwmmﬁ-@ﬁ\ﬁmm
Lo

Explain Keynesmn theory of demand
for money. Write how it is superior to
the traditional quantity theory of
money. - 7+3=10

CRRAT SIISCBIRT SI B St <t 3w
mﬂ@wﬁﬁww@hi CRTITE Teg
| ,
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0

(9)

I

or/e44t

Critically discuss Tobin’s portfolio
balance approach to demand for money. -

FATABAIGS AL SCPHI |
Discuss. the effects of inflation on
production and distribution. 5+5=10

Tl O ST (e | @i Ao
o R ferdl

0r/wvl'ai -

What is inflationary gap? Explain -
inflationary gap with a diagram. How
can the inflationary gap be wiped out.

2+5+3=10

mﬁawﬁs?mwmm

RN ESIE: mw (S TS]R AR 2
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OPTION-B
Paper : COM-HG-2026

' ( Insurance and Risk Management)

Answer the following questions as‘directcld :

1x10=10

(@)

:(b)

©
- G Fe wfT Tett

- (i)  Investment

In Wthh year the IRDA Act was

" passed ?

IRDAwﬁﬂmamwﬁwti%p

State whether the followmg statement
is true or false

| meﬁswmmﬁﬁw

Life msureance contract is a contract

‘of indemnity.

@ﬁﬁﬂﬁﬁnﬁﬁ?£ﬁ$?ﬁ%ﬁ§¢ﬁ§ﬁ?l

Life i insurance involves the element of

Rfqcamt |

BO3FC 0046 , . 8

(@)

(e)

(ii)‘ Protection
bRkl

(i) Both'Investment and Protection

(iv) None of the above

8HTT GBI T

.The LIC of India was set up in

OISR Gt e

smsim%@§§1

General Insurance Policies are 1ssued

 for a penod of

ﬁﬁmvrﬁhnﬂﬁﬁ%'ﬁmmwiﬁma=wﬁrﬁﬁﬁiﬁn
= ?

i) 1 yearA

¢ Y
(i) 2 yedrs

7R T

(iii) 10 years

R IJ
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- (iv) 4 years

vt a2
() Employees’ State Insurance Corporation
‘was- .established in the year
iy wHR I [ (@ oS Erf% e
| i 1968
Soub
(i) 1958
Soev
(iii) 1948
YY:1%
(iv) 1988
} Sdbb
(g) Write the full form of RMIS.
'RMIS 3 il Fe{(t fril
(h) Fine theft, flood is a
SR, BRIE, AP 9T
() Hazard
PR oAl
'BO3FC 0046 .- 10

1)

0

~ (i) - Peril

ST Efﬁﬁﬂ‘
(i) Disaster

ot
(iv) None of the. above
- eveq dBle T

The basis of risk is

Rt e o o

(i) . Liability

(i) .Uncertainity
St

(iii) | Possibility of Loss
ey gl

(iv) Insurance

A

Which of the following entities are
regulated by IRDAI?
e (RPN eﬂ%ﬁm IRDAI ¥ @R[l ﬁaﬁg@

S

(i) General Insurance Companies

YR %ﬂsn AR
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(). Re-insurance companies
SR A

(iii) Irisutance intermediaries
A gL |

. (i) All of the above

e R
2.  Give brief answer to the followmg questions :
' 2><5—10
(a) Define Ins_urance.-
(b) What is Assignment ?
WS e
(c) Wﬁte two features‘v of life insurance.
B R o T R
(d) Write two elements of val1d insurance -
' contract.
e [ g o B
?e) What is fire insurance ?
RS e

- BO3FC 0046 12

in about 200 words each : Sx4=20
oo Al RTPIT Bifb! & ATSRRE AW Qoo'f,‘]‘m_
9 foeve Teg 1’%1‘&” '
(a). Explain the main features of Risk.
RN 24 CARBER T
 (b) State the difference between double’
insurance and refir}surance._
tre T o RN AT |
e, Explam the advantages of life
insurance. ' .
S AT FARAPRE SIS T
(d) Write the main features of IRDA. |
IRDA ¥ T WRBSTR Bt -
(e) What is negligenice ? Explain the types
_of negligence. : 4
. e Ree WWWWWI'
ij] ' State flve objectwes of insurance.

Answer any fouf of the following qﬁestions-

‘insurance and re-insurance.

S stest ol B
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4. Answer any- four of the following questions
- in about 600 words each : - 10x4=40
w—ﬁmmﬁmwﬁa emoommwa
fooge Tes forat =
(a) g Descrlbe Vanous needs’ of Insurance
- A Rfew W a0
- (b) Explain the procedure of opening a life
‘ msurance policy.
g A SIS IS ATOO! Gt 39 |
) ~ Discuss the regulatory framework of
1nsurance sector in India.”
ORee ST FREIT A S
;1AL
(d) Explain the main power and functions -
of Insurance Ombudsman. 5+5=10
A Rt T ST S SRR |
() What is meant by risk management ? |
' Elaborately " discuss the risk
management process. 2+8=10
NP ~AfRstert e & @ e wewa
SABIETHIT AR 72 AT 4 | |
BO3FC 0046 14

(9)

()

Define re-insurance. Explain the main'
advantages’ of re-insurance.

mmmnmwmw ~

Define Marine insurance. Explain the
main features of marine insurance.

%ﬂﬁﬂ”@fﬁﬂflh—%mwm

'WWI

What is Endowment Policy ? ‘State

various types of Endowment Policies.
2+8=10

WW%?WWWW{{W( |
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